
Metoda per partes (po částech)

∫
x2 cos(3x)dx =

∣∣∣∣ u′ = cos(3x) v = x2

u = 1
3
sin(3x) v′ = 2x

∣∣∣∣ = 1

3
x2 sin(3x)− 2

3

∫
x sin(3x)dx =

∣∣∣∣ u′ = sin(3x) v = x
u = −1

3
cos(3x) v′ = 1

∣∣∣∣
=

1

3
x2 sin(3x)− 2

3

(
−1

3
x cos(3x) +

1

3

∫
cos(3x)dx

)
=

1

3
x2 sin(3x) +

2

9
x cos(3x)− 2

27
sin(3x) + C∫

x2 cosxdx = (x2 − 2) sinx+ 2x cosx+ C∫
x2 sin(2x)dx = −1

2
x2 cos(2x) +

1

2
x sin(2x) +

1

4
cos(2x) + C∫

x sinxdx = −x cosx+ sinx+ C∫
x cos(4x+ 3)dx =

1

4
sin(4x+ 3) +

1

16
cos(4x+ 3) + C∫

x2 sin
x

2
dx = −2x2 cos

x

2
+ 8x sin

x

2
+ 16 cos

x

2
+ C∫

xe3xdx =

∣∣∣∣u′ = e3x v = x
u = 1

3
e3x v′ = 1

∣∣∣∣ = 1

3
xe3x − 1

9
e3x + C∫

(x2 + 1)e−xdx =

∣∣∣∣ u′ = e−x v = x2 + 1
u = −e−x v′ = 2x

∣∣∣∣ = −e−x(x2 + 1) + 2

∫
xe−xdx =

∣∣∣∣ u′ = e−x v = x
u = −e−x v′ = 1

∣∣∣∣
= −e−x(x2 + 1) + 2

(
−xe−x +

∫
e−xdx

)
= −e−x(x2 + 1)− 2xe−x − 2e−x + C

= −e−x(x2 + 2x+ 3) + C∫
xe−xdx =

∣∣∣∣ u′ = e−x v = x
u = −e−x v′ = 1

∣∣∣∣ = −xe−x + ∫ e−xdx = −xe−x − e−x + C∫
(x2 − x+ 2)e3xdx =

e3x

27
(9x2 − 15x+ 23) + C∫

xe−2xdx = −1

4
e−2x(2x+ 1) + C∫

(x2 + 2x+ 17)exdx = (x2 + 17)ex + C∫
x23xdx =

3x

ln 3
(x2 − 2x

ln 3
+

2

ln2 3
) + C∫

ln2 xdx =

∣∣∣∣u′ = 1 v = ln2 x
u = x v′ = 2 ln x 1

x

∣∣∣∣ = x ln2 x− 2

∫
lnxdx =

∣∣∣∣u′ = 1 v = lnx
u = x v′ = 1

x

∣∣∣∣
= x ln2 x− 2x lnx+ 2x+ C∫
x lnxdx =

∣∣∣∣u′ = x v = lnx

u = x2

2
v′ = 1

x

∣∣∣∣ = x2

2
lnx−

∫
x

2
dx =

x2

2
lnx− x2

4
+ C∫

x5 lnxdx =
x6

36
(6 lnx− 1) + C∫

x2 lnx3dx = x3 lnx− x3

3
+ C∫

ln 5xdx = x ln 5x− x+ C

1



∫
lnx

x2
dx = −1

x
(lnx+ 1) + C∫ √

x lnxdx =
2

3

√
x3(lnx− 2

3
) + C∫

logxdx = xlogx− x

ln 10
+ C∫

ex cos(2x)dx =

∣∣∣∣u′ = ex v = cos(2x)
u = ex v′ = −2 sin(2x)

∣∣∣∣ = ex cos(2x) + 2

∫
ex sin(2x)dx =

=

∣∣∣∣u′ = ex v = sin(2x)
u = ex v′ = 2 cos(2x)

∣∣∣∣ = ex cos(2x) + 2ex sin(2x)− 4

∫
ex cos(2x)dx

⇒
∫

ex cos(2x)dx =
1

5
(ex cos(2x) + 2ex sin(2x)) + C∫

ex sin(3x)dx =

∣∣∣∣u′ = ex v = sin(3x)
u = ex v′ = 3 cos(3x)

∣∣∣∣ = ex sin(3x)− 3

∫
ex cos(3x)dx =

=

∣∣∣∣u′ = ex v = cos(3x)
u = ex v′ = −3 sin(3x)

∣∣∣∣ = ex sin(3x)− 3

(
ex cos(3x) + 3

∫
ex sin(3x)dx

)
⇒
∫

ex sin(3x)dx =
1

10
(ex sin(3x)− 3ex cos(3x)) + C∫

ex sinxdx =
1

2
ex(sinx− cosx) + C∫

e2x cos 5xdx =
e2x

29
(5 sin 5x+ 2 cos 5x) + C∫

sin2 xdx =

∣∣∣∣u′ = 1 v = sin2 x
u = x v′ = 2 sin x cosx = sin(2x)

∣∣∣∣ = x sin2 x−
∫

x sin(2x)dx =

∣∣∣∣ u′ = sin(2x) v = x
u = −1

2
cos(2x) v′ = 1

∣∣∣∣
= x sin2 x+

1

2
x cos(2x)− 1

2

∫
cos(2x)dx = x sin2 x+

1

2
x cos(2x)− 1

4
sin(2x) + C

= x sin2 x+
1

2
x(cos2 x− sin2 x)− 1

2
sinx cosx+ C =

1

2
(x− sinx cosx) + C

2


